

***f*-ASYMPTOTICALLY LACUNARY EQUIVALENT SEQUENCES**

TUNAY BILGIN

ABSTRACT. This paper presents introduce some new notions, *f*-asymptotically equivalent of multiple *L*, strong *f*-asymptotically equivalent of multiple *L*, and strong *f*-asymptotically lacunary equivalent of multiple *L* which is a natural combination of the definition for asymptotically equivalent, Statistically limit, Lacunary sequence, and Modulus function. We study some connections between the asymptotically equivalent sequences and *f*-asymptotically equivalent sequences.

2000 *Mathematics Subject Classification* : 40A99, 40A05

1. INTRODUCTION

Let s, ℓ_∞, c denote the spaces of all real sequences, bounded, and convergent sequences, respectively. Any subspace of s is called a sequence space.

Following Freedman et al.[4], we call the sequence $\theta = (k_r)$ lacunary if it is an increasing sequence of integers such that $k_0 = 0, h_r = k_r - k_{r-1} \rightarrow \infty$ as $r \rightarrow \infty$. The intervals determined by θ will be denoted by $I_r = (k_{r-1}, k_r]$ and $q_r = k_r/k_{r-1}$. These notations will be used throughout the paper. The sequence space of lacunary strongly convergent sequences N_θ was defined by Freedman et al.[4], as follows:

$$N_\theta = \{x = (x_i) \in s : h_r^{-1} \sum_{i \in I_r} |x_i - s| = 0 \text{ for some } s\}.$$

The notion of modulus function was introduced by Nakano [11]. We recall that a modulus f is a function from $[0, \infty)$ to $[0, \infty)$ such that (i) $f(x) = 0$ if and only if $x = 0$, (ii) $f(x + y) \leq f(x) + f(y)$ for $x, y \geq 0$, (iii) f is increasing and (iv) f is continuous from the right at 0. Hence f must be continuous everywhere on $[0, \infty)$. Connor [2], Kolk [8], Maddox [9], Öztürk and Bilgin [12], Pehlivan and Fisher [15], Ruckle [16] and others used a modulus function to construct sequence spaces.

Marouf presented definitions for asymptotically equivalent sequences and asymptotic regular matrices in [10]. Patterson extended these concepts by presenting an

asymptotically statistical equivalent analog of these definitions and natural regularity conditions for nonnegative summability matrices in[13]

Recently , the concept of asymptotically equivalent was generalized by Patterson and Savas [14], Savas and Basarir[17],and Savas and Patterson[18]. This paper presents introduce some new notions, f -asymptotically equivalent of multiple L , strong f -asymptotically equivalent of multiple L , and strong f -asymptotically lacunary equivalent of multiple L which is a natural combination of the definition for asymptotically equivalent, Statistically limit, Lacunary sequence, and Modulus function. In addition to these definitions, natural inclusion theorems shall also be presented.

2. DEFINITIONS AND NOTATIONS

Now we recall some definitions of sequence spaces (see [3], [5], [9], [10], [13], and [14]).

Definition 1 A sequence $[x]$ is statistically convergent to L if

$\lim_n \frac{1}{n} \{ \text{the number of } k \leq n : |x_k - L| \geq \varepsilon \} = 0$ for every $\varepsilon > 0$, (denoted by $st - \lim x = L$).

Definition 2 A sequence $[x]$ is strongly(Cesaro) summable to L if $\lim_n \frac{1}{n} \sum_{k=1}^n |x_k - L| = 0$, (denoted by $w - \lim x = L$).

Definition 3 Let f be any modulus; the sequence $[x]$ is strongly (Cesaro) summable to L with respect to a modulus if

$$\lim_n \frac{1}{n} \sum_{k=1}^n f(|x_k - L|) = 0$$

denoted by $w_f - \lim x = L$.

Definition 4 Two nonnegative sequences $[x]$ and $[y]$ are said to be asymptotically equivalent if $\lim_k \frac{x_k}{y_k} = 1$, (denoted by $x \sim y$).

Definition 5 Two nonnegative sequences $[x]$ and $[y]$ are said to be asymptotically statistical equivalent of multiple L provided that for every $\varepsilon > 0$, $\lim_n \frac{1}{n} \left\{ \text{the number of } k \leq n : \left| \frac{x_k}{y_k} - L \right| \geq \varepsilon \right\} = 0$, (denoted by $x \overset{S}{\sim} y$) and simply asymptotically statistical equivalent, if $L = 1$.

Definition 6 Two nonnegative sequences $[x]$ and $[y]$ are said to be strong asymptotically equivalent of multiple L provided that

$\lim_n \frac{1}{n} \sum_{k=1}^n \left| \frac{x_k}{y_k} - L \right| = 0$ (denoted by $x \overset{w}{\sim} y$) and simply strong asymptotically equivalent, if $L = 1$.

Definition 7 Let θ be a lacunary sequence; the two nonnegative sequences $[x]$ and $[y]$ are said to be asymptotically lacunary statistical equivalent of multiple L provided that for every $\varepsilon > 0$,

$\lim_r \frac{1}{h_r} \left\{ \text{the number of } k \in I_r : \left| \frac{x_k}{y_k} - L \right| \geq \varepsilon \right\} = 0$, (denoted by $x \overset{S_\theta}{\sim} y$) and simply asymptotically lacunary statistical equivalent, if $L = 1$.

Definition 8 Let θ be a lacunary sequence; the two nonnegative sequences $[x]$ and $[y]$ are said to be strong asymptotically lacunary equivalent of multiple L provided that $\lim_r \frac{1}{h_r} \sum_{k \in I_r} \left| \frac{x_k}{y_k} - L \right| = 0$ (denoted by $x \overset{N_\theta}{\sim} y$) and simply strong asymptotically lacunary equivalent, if $L = 1$.

Following these results we shall now introduce some new notions, f -asymptotically equivalent of multiple L , strong f -asymptotically equivalent of multiple L , and strong f -asymptotically lacunary equivalent of multiple L . Then we use these definitions to prove strong f -asymptotically equivalent and strong f -asymptotically lacunary equivalent analogues of Connor's results in [1] and Fridy and Orhan's results in [5,6].

Definition 9 Let f be any modulus; the two nonnegative sequences $[x]$ and $[y]$ are said to be f -asymptotically equivalent of multiple L provided that,

$\lim_k f\left(\left|\frac{x_k}{y_k} - L\right|\right) = 0$ (denoted by $x \overset{f}{\sim} y$) and simply strong f -asymptotically equivalent, if $L = 1$.

Since f is continuous and $f(x) = 0$ if and only if $x = 0$, then

$\lim_k f\left(\left|\frac{x_k}{y_k} - 1\right|\right) = f\left(\lim_k \left|\frac{x_k}{y_k} - 1\right|\right) = 0$ if and only if $\lim_k \left(\frac{x_k}{y_k} - 1\right) = 0$ i.e. $\lim_k \frac{x_k}{y_k} =$

1. Therefore $x \sim y \iff x \overset{f}{\sim} y$.

Definition 10 Let f be any modulus; the two nonnegative sequences $[x]$ and $[y]$ are said to be strong f -asymptotically equivalent of multiple L provided that,

$\lim_n \frac{1}{n} \sum_{k=1}^n f\left(\left|\frac{x_k}{y_k} - L\right|\right) = 0$ (denoted by $x \overset{w_f}{\sim} y$) and simply strong f -asymptotically equivalent, if $L = 1$.

Definition 11 Let f be any modulus and θ be a lacunary sequence; the two nonnegative sequences $[x]$ and $[y]$ are said to be strong f -asymptotically lacunary equivalent

of multiple L provided that

$$\lim_r \frac{1}{h_r} \sum_{k \in I_r} f\left(\left|\frac{x_k}{y_k} - L\right|\right) = 0$$

denoted by $x \overset{N_{\theta, f}}{\sim} y$ and simply strong f -asymptotically lacunary equivalent, if $L = 1$.

3. MAIN THEOREMS

We start this section with the following Theorem to show that the relation between f -asymptotically equivalence and strong f -asymptotically equivalence.

Theorem 12 *Let f be any modulus then*

- (i) if $x \overset{w}{\sim} y$ then $x \overset{w_f}{\sim} y$, and
- (ii) if $\lim_{t \rightarrow \infty} \frac{f(t)}{t} = \beta > 0$, then $x \overset{w}{\sim} y \iff x \overset{w_f}{\sim} y$.

Proof: Part (i): Let $x \overset{w}{\sim} y$ and $\varepsilon > 0$. We choose $0 < \delta < 1$ such that $f(u) < \varepsilon$ for every u with $0 \leq u \leq \delta$. We can write

$$\frac{1}{n} \sum_{k=1}^n f\left(\left|\frac{x_k}{y_k} - L\right|\right) = \frac{1}{n} \sum_1 f\left(\left|\frac{x_k}{y_k} - L\right|\right) + \frac{1}{n} \sum_2 f\left(\left|\frac{x_k}{y_k} - L\right|\right)$$

where the first summation is over $\left|\frac{x_k}{y_k} - L\right| \leq \delta$ and the second summation over $\left|\frac{x_k}{y_k} - L\right| > \delta$. By definition of f , we have

$$\frac{1}{n} \sum_{k=1}^n f\left(\left|\frac{x_k}{y_k} - L\right|\right) \leq \varepsilon + 2f(1)\delta^{-1} \frac{1}{n} \sum_{k=1}^n \left|\frac{x_k}{y_k} - L\right|$$

and the result follows on applying the operator $\lim_{\varepsilon \rightarrow 0} \lim_{n \rightarrow \infty}$

Therefore $x \overset{w_f}{\sim} y$.

Part (ii): If $\lim_{t \rightarrow \infty} \frac{f(t)}{t} = \beta > 0$, then $f(t) \geq \beta t$ for all $t > 0$. Let $x \overset{w_f}{\sim} y$, clearly

$$\frac{1}{n} \sum_{k=1}^n f\left(\left|\frac{x_k}{y_k} - L\right|\right) \geq \frac{1}{n} \sum_{k=1}^n \beta \left|\frac{x_k}{y_k} - L\right| = \beta \frac{1}{n} \sum_{k=1}^n \left|\frac{x_k}{y_k} - L\right|,$$

therefore $x \overset{w}{\sim} y$. By using (i) the proof is complete.

In the following theorem we study the relationship between the asymptotically statistical equivalence and the strong f -asymptotically equivalence.

Theorem 13 *Let f be any modulus then*

- (i) if $x \overset{w_f}{\sim} y$ then $x \overset{S}{\sim} y$, and
- (ii) if f is bounded then $x \overset{w_f}{\sim} y \iff x \overset{S}{\sim} y$.

Proof: Part (i): Take $\varepsilon > 0$ and let \sum_1 denote the sum over $k \leq n$ with $\left| \frac{x_k}{y_k} - L \right| \geq \varepsilon$.

.Then

$$\begin{aligned} \frac{1}{n} \sum_{k=1}^n f\left(\left|\frac{x_k}{y_k} - L\right|\right) &\geq \frac{1}{n} \sum_1 f\left(\left|\frac{x_k}{y_k} - L\right|\right) \\ &\geq f(\varepsilon) \frac{1}{n} \left\{ \text{the number of } k \leq n : \left|\frac{x_k}{y_k} - L\right| \geq \varepsilon \right\}, \end{aligned}$$

from which the result follows.

Part (ii): Suppose that f is bounded and $x \overset{S}{\sim} y$. We split the sum for $k \leq n$ into sums over $\left| \frac{x_k}{y_k} - L \right| \geq \varepsilon$ and $\left| \frac{x_k}{y_k} - L \right| < \varepsilon$. Then

$$\frac{1}{n} \sum_{k=1}^n f\left(\left|\frac{x_k}{y_k} - L\right|\right) \leq \sup f(t) \frac{1}{n} \left\{ \text{the number of } k \leq n : \left|\frac{x_k}{y_k} - L\right| \geq \varepsilon \right\} + f(\varepsilon)$$

and the result follows on applying the operator $\lim_{\varepsilon \rightarrow 0} \lim_{n \rightarrow \infty}$.

The next theorem shows the relationship between the strong f -asymptotically equivalence and the strong f -asymptotically lacunary equivalence.

Theorem 14 *Let f be a any modulus then*

- (i) *if $\liminf_r q_r > 1$ then $x \overset{w_f}{\sim} y$ implies $x \overset{N_{\theta,f}}{\sim} y$,*
- (ii) *if $\limsup_r q_r < \infty$ then $x \overset{N_{\theta,f}}{\sim} y$ implies $x \overset{w_f}{\sim} y$*
- (iii) *if $1 < \liminf_r q_r \leq \limsup_r q_r < \infty$, then $x \overset{w_f}{\sim} y \iff x \overset{N_{\theta,f}}{\sim} y$.*

Proof: Part (i): Let $x \overset{w_f}{\sim} y$ and $\liminf_r q_r > 1$. There exist $\delta > 0$ such that

$q_r = (k_r/k_{r-1}) \geq 1 + \delta$ for sufficiently large r . We have, for sufficiently large r , that $(h_r/k_r) \geq \delta/(1 + \delta)$. Then

$$\begin{aligned} \frac{1}{k_{r-1}} \sum_{k=1}^{k_r} f\left(\left|\frac{x_k}{y_k} - L\right|\right) &\geq \frac{1}{k_{r-1}} \sum_{k \in I_r} f\left(\left|\frac{x_k}{y_k} - L\right|\right) \\ &= (h_r/k_r) \frac{1}{h_r} \sum_{k \in I_r} f\left(\left|\frac{x_k}{y_k} - L\right|\right) \\ &\geq [\delta/(1 + \delta)] \frac{1}{h_r} \sum_{k \in I_r} f\left(\left|\frac{x_k}{y_k} - L\right|\right) \end{aligned}$$

which yields that $x \overset{N_{\theta,f}}{\sim} y$.

Part (ii): If $\limsup_r q_r < \infty$ then there exists $K > 0$ such that $q_r < K$ for every r .

Now suppose that $x \overset{N_{\theta,f}}{\sim} y$ and $\varepsilon > 0$. There exists m_0 such that for every $m \geq m_0$,

$$H_m = h_m^{-1} \sum_{k \in I_m} f\left(\left|\frac{x_k}{y_k} - L\right|\right) < \varepsilon$$

We can also find $R > 0$ such that $H_m \leq R$ for all m . Let n be any integer with $k_r \geq n > k_{r-1}$. Now write

$$\begin{aligned}
 & \frac{1}{n} \sum_{k=1}^n f\left(\left|\frac{x_k}{y_k} - L\right|\right) \leq \frac{1}{k_{r-1}} \sum_{k=1}^{k_r} f\left(\left|\frac{x_k}{y_k} - L\right|\right) \\
 = & \frac{1}{k_{r-1}} \left(\sum_{m=1}^{m_0} + \sum_{m=m_0+1}^{k_r} \right) \sum_{k \in I_m} f\left(\left|\frac{x_k}{y_k} - L\right|\right) \\
 & = \frac{1}{k_{r-1}} \sum_{m=1}^{m_0} \sum_{k \in I_m} f\left(\left|\frac{x_k}{y_k} - L\right|\right) + \frac{1}{k_{r-1}} \sum_{m=m_0+1}^{k_r} \sum_{k \in I_m} f\left(\left|\frac{x_k}{y_k} - L\right|\right) \\
 & \leq \frac{1}{k_{r-1}} \sum_{m=1}^{m_0} h_m h_m^{-1} \sum_{k \in I_m} f\left(\left|\frac{x_k}{y_k} - L\right|\right) + \varepsilon(k_r - k_{m_0}) \frac{1}{k_{r-1}} \\
 & \leq \frac{k_{m_0}}{k_{r-1}} \sup_{1 \leq k \leq m_0} H_k + \varepsilon K \\
 & < R \frac{k_{m_0}}{k_{r-1}} + \varepsilon K
 \end{aligned}$$

from which we deduce that $x \overset{w_f}{\sim} y$.

Part (iii): This immediately follows from (i) and (ii).

Theorem 15 *Let f be any modulus then*

- (i) if $x \overset{N_\theta}{\sim} y$ then $x \overset{N_{\theta,f}}{\sim} y$, and
- (ii) if $\lim_{t \rightarrow \infty} \frac{f(t)}{t} = \beta > 0$, then $x \overset{N_\theta}{\sim} y \iff x \overset{N_{\theta,f}}{\sim} y$

Proof The proof of Theorem 3.4. is very similar to the Theorem 3.1. Then we omit it.

Finally we give relation between asymptotically lacunary statistical equivalence and strong f -asymptotically lacunary equivalence. Also we give relation between asymptotically lacunary statistical equivalence and strong f -asymptotically equivalence.

Theorem 16 *Let f be any modulus then*

- (i) if $x \overset{N_{\theta,f}}{\sim} y$ then $x \overset{S_\theta}{\sim} y$,
- (ii) if f is bounded then $x \overset{N_{\theta,f}}{\sim} y \iff x \overset{S_\theta}{\sim} y$, and
- (iii) if f is bounded then $x \overset{S_\theta}{\sim} y$ implies $x \overset{w_f}{\sim} y$.

Proof: Part (i): Take $\varepsilon > 0$ and let \sum_1 denote the sum over $k \leq n$ with $\left|\frac{x_k}{y_k} - L\right| \geq \varepsilon$.

.Then

$$\begin{aligned}
 \frac{1}{h_r} \sum_{k \in I_r} f\left(\left|\frac{x_k}{y_k} - L\right|\right) & \geq \frac{1}{h_r} \sum_1 f\left(\left|\frac{x_k}{y_k} - L\right|\right) \\
 & \geq f(\varepsilon) \frac{1}{h_r} \left\{ \text{the number of } k \in I_r : \left|\frac{x_k}{y_k} - L\right| \geq \varepsilon \right\},
 \end{aligned}$$

from which the result follows.

Part (ii): Suppose that f is bounded and $x \overset{S_\theta}{\sim} y$. Since f is bounded, there exists an integer T such that $|f(x)| \leq T$ for all $x \geq 0$. We see that

$$\frac{1}{h_r} \sum_{k \in I_r} f\left(\left|\frac{x_k}{y_k} - L\right|\right) \leq T \frac{1}{h_r} \left\{ \text{the number of } k \in I_r : \left|\frac{x_k}{y_k} - L\right| \geq \varepsilon \right\} + f(\varepsilon)$$

and the result follows on applying the operator $\lim_{\varepsilon \rightarrow 0} \lim_{r \rightarrow \infty}$.

Part (iii): Let n be any integer with $n \in I_r$, then

$$\frac{1}{n} \sum_{k=1}^n f\left(\left|\frac{x_k}{y_k} - L\right|\right) = \frac{1}{n} \sum_{p=1}^{r-1} \sum_{k \in I_p} f\left(\left|\frac{x_k}{y_k} - L\right|\right) + \frac{1}{n} \sum_{k=1+k_{r-1}}^n f\left(\left|\frac{x_k}{y_k} - L\right|\right) \quad (1)$$

Consider the first term on the right in (1);

$$\begin{aligned} \frac{1}{n} \sum_{p=1}^{r-1} \sum_{k \in I_p} f\left(\left|\frac{x_k}{y_k} - L\right|\right) &\leq \frac{1}{k_{r-1}} \sum_{p=1}^{r-1} \sum_{k \in I_p} f\left(\left|\frac{x_k}{y_k} - L\right|\right) \\ &= \frac{1}{k_{r-1}} \sum_{p=1}^{r-1} h_p \left(\frac{1}{h_p} \sum_{k \in I_p} f\left(\left|\frac{x_k}{y_k} - L\right|\right) \right) \end{aligned}$$

Since f is bounded and $x \overset{S_\theta}{\sim} y$, it follows (ii) that

$$\frac{1}{h_p} \sum_{k \in I_p} f\left(\left|\frac{x_k}{y_k} - L\right|\right) \rightarrow 0$$

Hence

$$\frac{1}{k_{r-1}} \sum_{p=1}^{r-1} h_p \left(\frac{1}{h_p} \sum_{k \in I_p} f\left(\left|\frac{x_k}{y_k} - L\right|\right) \right) \rightarrow 0. \quad (2)$$

Consider the second term on the right in (1); Since f is bounded, there exists an integer T such that $|f(x)| \leq T$ for all $x \geq 0$. We split the sum for $k_{r-1} < k \leq n$ into sums over $\left|\frac{x_k}{y_k} - L\right| \geq \varepsilon$ and $\left|\frac{x_k}{y_k} - L\right| < \varepsilon$. Therefore we have for every $\varepsilon > 0$, that

$$\frac{1}{n} \sum_{k=1+k_{r-1}}^n f\left(\left|\frac{x_k}{y_k} - L\right|\right) \leq T \frac{1}{h_r} \left\{ \text{number of } k \in I_r : \left|\frac{x_k}{y_k} - L\right| \geq \varepsilon \right\} + f(\varepsilon) \quad (3)$$

Since $x \overset{S_\theta}{\sim} y$, f is continuous from the right at 0, and ε is arbitrary, the expression on left side of (3) tends to zero as $r \rightarrow \infty$. Hence (1), (2) and (3) imply that $x \overset{w_f}{\sim} y$.

References

- [1] J.S. Connor: *The statistical and strong p -Cesaro convergence of sequences*, Analysis,8 (1988),47-63
- [2] J.S. Connor: *On strong matrix summability with respect to a modulus and statistical convergence*, Canad.Math. Bull. 32(1989),194-198.
- [3] H. Fast: *Sur la convergence statistique*, Collog. Math., Vol. 2, (1951), 241-244.
- [4] A.R Freedman, J.J.Sember, M Raphael: *Some Cesaro-type summability spaces*, Proc.London Math. Soc.37(3) (1978), 508-520.

- [5] J.A. Fridy: *On statistical convergence*, Analysis, Vol. 5, (1985),301-313.
- [6] J.A. Fridy and C. Orhan: *Lacunary statistical convergent*, Pacific J. Math., Vol.160(1), (1993), 43-51.
- [7] J.A. Fridy and C. Orhan: *Lacunary statistical summability*, J. Math.,Anal. Appl.Vol. 173, (1993), 497-504.
- [8] E. Kolk: *On strong boundedness and summability with respect to a sequence.moduli*, TartuUl. Toimetised 960 (1993),41-50.
- [9] I.J.Maddox: *Sequence spaces defined by a modulus*,Math. Proc. Camb.Phil.Soc.100(1986),161-166.
- [10] M. Marouf: *Asymptotic equivalence and summability*, Int.J. Math. Math. Sci.,Vol.16(4),(1993),755-762.
- [11] H. Nakano: *Concave modulars*, J.Math.Soc. Japan 5(1953), 29-49.
- [12] E. Öztürk,T.Bilgin: *Strongly summable sequence spaces defined by a modulus*, Indian J.Pure Appl.Math. 25(6) (1994), 621-625.
- [13] R.F. Patterson: *On asymptotically statistically equivalent sequences*, Demonstratio Math., Vol.36(1),(2003), 149-153.
- [14] R.F. Patterson and E. Savas: *On asymptotically lacunary statistically equivalent sequences*, Thai Journal of Mathematics,Volume 4(2006) Number 2 : 267-272.
- [15] S.Pehlivan, B.Fisher: *On some sequence spaces*, Indian J. Pure Appl. Math. 25(10)(1994),1067-1071.
- [16] W.H Ruckle: *FK spaces in which the sequence of coordinate vectors is bounded*, Canad. J.Math. 25(1973), 973-978.
- [17] R.Savas and M. Basarir: *(σ, λ) Asymptotically statistically equivalent sequences*,Flomat. 20(1) (2006),35-42.
- [18] E. Savas, R.F. Patterson: *σ -asymptotically lacunary statistical equivalent sequences*, European Journal of Mathematics, 4(4) (2006) 648-655.

Tunay Bilgin,
Department of Mathematics,
University of Yüzüncü Yıl,
65080/Van-Turkey
email: tbilgin@yyu.edu.tr